Title: 343-18 Football Uniform

Garland Independent School District GISD Sourcing Bid Tab Report

Bid#: 31979

	and Equipmer	nt
Quote# Vendor / Supplier	EPCNT	Discount
530338 ALERT SERVICES INC	yes	20%-Catalog
		PricesN 15%-
532352 AMERICA TEAM SPORTS	Yes	10-40%See
		Attached
532351 *BARCELONA SPORTING GOODS	YES	0-10%
		DEPENDING C
		WHICH CATAL
		OG IT IS FROM
530337 HEALY AWARDS INC	Yes	No discount o
		decals, they a
530336 IMAGE MAKER 4U INC	ves	0%
531345 KNOCKOUT SPORTSWEAR.COM LLC	yes	we offer 10%
		discount for
530333 MARTY GILMAN INC	YES	5 % CATALOG
		DISCOUNT -
531346 NEFF MOTIVATION INC	No	0
532345 PYRAMID SCHOOL PRODUCTS	Yes	NΔ
531342 RIDDELL ALL AMERICAN	Yes	1-40%
532347 SCHOOL SPECIALTY INC	NO	0
532342 VARSITY BRANDS HOLDINGS CO INC	Yes	10 % off
		w/exceptions.
		See attached
		exception list.
		\$50 minimum
		order per PO,
		shipping to or
		location. Fed I
TARRET VENUELLI A		and line
530335 XENITH LLC	yes	0-40%

91E - Insufficient experience w/ Product/Service

4NS - Not to Specifications

					*Confidential			
Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
	Adams His (Tail Bade as assessed a small #Tl 000 mbits			-	VARSITY PRANCE HELDINGS OF INC	70	60.44	£450.00
1	Adams Hip/Tail Pads or approved equal #TL300, white	Υ		PR	VARSITY BRANDS HOLDINGS CO INC	70	\$6.44	\$450.80
				PR	AMERICA TEAM SPORTS	70	\$6.50	\$455.00
				PR	*BARCELONA SPORTING GOODS	70		
2	Adams Knee Pads or approved equal, #TL850, white	v		PR	VARSITY BRANDS HOLDINGS CO INC	150	\$3.13	\$469.50
	Adams Knee Fads of approved equal, #12650, white	Y		PK	VARSITY BRANDS HOLDINGS CO INC	150	\$3.13	\$ 4 69.50
				PR	*BARCELONA SPORTING GOODS	150		
				PR	AMERICA TEAM SPORTS	150	\$4.77	\$715.50
3	Adams Small Knee Pads or approved equal, #KLF-1	Υ		PR	VARSITY BRANDS HOLDINGS CO INC	100	\$3.24	\$324.00
				PR	*BARCELONA SPORTING GOODS	100		
				PR	AMERICA TEAM SPORTS	100	\$3.57	\$357.00
4	Adams Thigh Pads or approved equal, #TL950	Υ		PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS	60	\$5.98	\$358.80
				PR	AMERICA TEAM SPORTS	60 60	\$6.25	\$375.00
					The state of the s		\$0.20	40.10.00
5	Adams Thigh Pad Set or approvedd equal, #U92	Υ		SET	AMERICA TEAM SPORTS	60	\$8.50	\$510.00
				SET	VARSITY BRANDS HOLDINGS CO INC	60	\$10.21	\$612.60
				SET	*BARCELONA SPORTING GOODS	60		
6	Adams Laundry Belts or approved equal, #LS19 Color to follow when order is placed	γ		EA	AMERICA TEAM SPORTS	1500	\$2.40	\$3,600.00
	isiisii iiisii si asi is piassa			EA	*BARCELONA SPORTING GOODS	1500	V	\$ 0,000.00
				EA	VARSITY BRANDS HOLDINGS CO INC	1500	\$2.81	\$4,215.00
7	Mouthpieces, Adams or approved equal, MG301 Color to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	6400	\$0.29	\$1,856.00
-	onon mon order to placed	·						
				EA	ALERT SERVICES INC	6400	\$0.33	\$2,112.00
					*BARCELONA SPORTING COORS	6400		
				EA	*BARCELONA SPORTING GOODS	6400		
				EA	VARSITY BRANDS HOLDINGS CO INC	6400	\$0.41	\$2,624.00
					30 110		+	,
8	Adams Heavy Duty Cones or approved equal,#C18	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	48	\$5.57	\$267.36
ď	Adams Heavy Duty Cones or approved equal,#C18	ĭ		EA	VARSITY BRANDS HULDINGS CO INC	48	\$5.57	\$267

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	AMERICA TEAM SPORTS	48	\$8.00	\$384.00
					TABLE TO THE STATE OF THE STATE		ţ0.00	400.1100
				EA	*BARCELONA SPORTING GOODS	48		
				EA	SCHOOL SPECIALTY INC	48	\$11.57	\$555.36
9	Adams Girdle with Sewn in Low Rise Pads or approved equal, #644LRP			PR	AMERICA TEAM SPORTS	36	\$16.00	\$576.00

				PR PR	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC	36 36	\$17.49	\$629.64
				FK	VARSITT BRANDS HOLDINGS CO INC	30	\$17.45	\$029.04
10	Champion 101 Wrestler Knee Pads 9'br approved equal, Color to follow when order is placed	Υ		PR	AMERICA TEAM SPORTS	161	\$8.50	\$1,368.50
				PR	VARSITY BRANDS HOLDINGS CO INC	161	\$18.28	\$2,943.08
11	Champion Electric Air Pump or approved equal, #EP1500	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$49.98	\$49.98
				E4	AMERICA TEAM SPORTS	1	\$70.00	\$70.00
				EA	AMERICA LEAM SPORTS	'	\$70.00	\$70.00
				EA	*BARCELONA SPORTING GOODS	1		
				EA	ALERT SERVICES INC	1	\$88.14	\$88.14
	Riddell Speed Revolution Helmet or approved equal,							
12	#R41190 with 4 pt. hard cup chin strap, face mask Sizes & face mask to follow when order is placed	Υ		EA	RIDDELL ALL AMERICAN	42	\$235.00	\$9,870.00
				EA	XENITH LLC	42	\$235.00	\$9,870.00
	Riddell Speed Revolution Helmet or approved equal, #R41190 with 4 pt. hard cup chin strap, face mask X-large,							
13	face mask to follow when order is placed		91E	EA	XENITH LLC	6	\$195.00	\$1,170.00
		Υ		EA	RIDDELL ALL AMERICAN	6	\$250.00	\$1,500.00
	Riddell Revolution Speed Helmet or approved equal,							
	Denver Metallic with black facemask, helmets with 4 pt. black hard cup chin strap, helmets need to be predrilled for							
14	high hook-up medium -S2BD-LW-V large S2BD-LW-V large S2BDC-LW-V		91E	EA	XENITH LLC	12	\$180.00	\$2,160.00
		٧		EA	RIDDELL ALL AMERICAN	12	\$235.00	\$2,820.00
	Riddell Classic Speed Helmet or approved equal, #R41167 Maroon helmet & chin strap with navy facemask Helmets							
15	predrilled for high hook-up with 4 pt. hard cup chin straps Sizes & facemasks to follow when order is placed		91E	EA	XENITH LLC	24	\$180.00	\$4,320.00
	Riddell Speed Flex Helmet or approved equal, #R41195	Υ		EA	RIDDELL ALL AMERICAN	24	\$235.00	\$5,640.00
	Helmet, face mask & chin strap color to follow when order is placed Helmets predrilled for high hook-up with 4 pt.							
16	hard cup chin straps Sizes & facemasks to follow when order is placed		91E	EA	XENITH LLC	24	\$180.00	\$4,320.00
	oras is piasoa		J12		X X X X X X X X X X X X X X X X X X X		\$100.00	Ų 1,020100
		Υ		EA	RIDDELL ALL AMERICAN	24	\$337.00	\$8,088.00
	Riddell Vengeance VTDII Helmet or approved equal, #204801 Helmet, face mask & chin strap color to follow							
	when order is placed Helmets predrilled for high hook-up with 4 pt. hard cup chin straps Sizes & facemasks to follow						NB-See note to	NB-See note
17	when order is placed	N/A		EA EA	RIDDELL ALL AMERICAN XENITH LLC	20 20	buyer \$180.00	to buyer \$3,600.00
	Riddell Speed Helmet Repair Kits or approved equal,							+=,=00.00
18	#R27590			EA	RIDDELL ALL AMERICAN	9	\$194.00	\$1,746.00
19	Riddell Speedflex Combo Mox Box Helmet Accessory Kit or approved equal, #R27523	Υ		EA	RIDDELL ALL AMERICAN	1	\$113.00	\$113.00
1.3	Approvide organi, menozo			7.			φ1-10.00	Ψ110.00

Lino		Award (V /						Extended
Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Price
20	Riddell Helmet Inflator Pumps or approved equal, #R45931			EA	RIDDELL ALL AMERICAN	13	\$8.10	\$105.30
21	Riddell Speed Hard Chin Straps or approved equal, #R45621 High hook-up, color to follow when order is placed			EA	RIDDELL ALL AMERICAN	125	\$9.75	\$1,218.75
22	Riddell Speedflex Chin Strap or approved equal, #R458222 Medium, maroon			EA	RIDDELL ALL AMERICAN	6	\$12.45	\$74.70
23	Riddell Speed Facemasks or approved equal, color & style to follow when order is placed			EA	RIDDELL ALL AMERICAN	14	\$30.00	\$420.00
24	Riddell SK Shoulder Pad #R48310 or approved equal, black			PR	RIDDELL ALL AMERICAN	5	\$140.00	\$700.00
25	Riddell AP Shoulder Pad #R48310 or approved equal, black	Υ		PR	RIDDELL ALL AMERICAN	5	\$140.00	\$700.00
26	Riddell L Shoulder Pad or approved equal, #R48310, black			PR	IMAGE MAKER 4U INC	5	NB	NB
		Y		PR	RIDDELL ALL AMERICAN	5	\$140.00	\$700.00
27	Riddell Plastic Chin Strap Buckles or approved equal, black			EA	RIDDELL ALL AMERICAN	50	\$0.90	\$45.00
28	Riddell 1 ½ Swivel T-hooks or approved equal, black	Y		EA	*BARCELONA SPORTING GOODS	50		
				EA	RIDDELL ALL AMERICAN	50	\$0.60	\$30.00
29	Riddell Air Knee Pads 6 1/2 or approved equal, #48168, white			PR	RIDDELL ALL AMERICAN	100	\$3.75	\$375.00
30	Riddell Biolite Micro Knee Pads or approved equal, #R48159			PR	RIDDELL ALL AMERICAN	100	\$3.35	\$335.00
31	Riddell Speed Quick Release Pin or approved equal, #456109			EA	RIDDELL ALL AMERICAN	48	\$2.50	\$120.00
32	Riddell Speed Quick Receptacle or approved equal, #45960			EA	RIDDELL ALL AMERICAN	12	\$2.50	\$30.00
33	Riddell Dipped Thigh Pads or approved equal, medium 7" #R48132			PR	RIDDELL ALL AMERICAN	60	\$6.00	\$360.00
34	Riddell Biolite Thigh Pads or approved equal, #R48155			PR	RIDDELL ALL AMERICAN	60	\$5.25	\$315.00
35	Riddell Biolite Hip/Tail Pads or approved equal, #R48154 Douglas Custom Shoulder Pads CP QB/WR with back plates or approved equal, sizes & style to follow when			PR	RIDDELL ALL AMERICAN	60	\$5.25	\$315.00
36	order is placed			PR	*BARCELONA SPORTING GOODS	1		
37	Douglas Destroyer Shoulder Pads or approved equal, Sizes to follow when order is placed			PR	*BARCELONA SPORTING GOODS	35		
38	Douglas Custom Shoulder Pads or approved equal, Sizes to follow when order is placed Douglas shoulder pads, CP 25Z or approved equal,			PR	*BARCELONA SPORTING GOODS	6		
39	#PC25Z, sizes to follow when order is placed			PR	*BARCELONA SPORTING GOODS	6		
40	Douglas shoulder pads, CP QBK DB or approved equal, #PCQKDB, sizes to follow when order is placed Douglas shoulder pads, SP QB/WR #PSQB or approved			PR	*BARCELONA SPORTING GOODS	6		
41	equal, Sizes to follow when order is placed			PR	*BARCELONA SPORTING GOODS	6		
42	Douglas shoulder pads, SP 25 #PS25 or approved equal, Sizes to follow when order is placed Douglas shoulder pads, SP Mr. DZ'or approved equal,			PR	*BARCELONA SPORTING GOODS	6		
43	#PSDZ, sizes to follow when order is placed			PR	*BARCELONA SPORTING GOODS	6		
44	Douglas 4'Shoulder Pad Back Plates or approved equal, #ALBP			EA	*BARCELONA SPORTING GOODS	10		
45	Douglas Knee Pad or approved equal, #ADK			PR	*BARCELONA SPORTING GOODS	36		

Line		Award (Y /						Extended
#	Item Description Cutters Wristbands #097 or approved equal, single page	N)	Reason	UOM	Supplier	Qty	Price	Price
46	Color to follow when order is placed		4NS	EA	ALERT SERVICES INC	84	\$4.80	\$403.20

		Υ		EA	AMERICA TEAM SPORTS	84	\$5.50	\$462.00
				EA	*BARCELONA SPORTING GOODS	84		
				LA	DARGEESTA OF ORTING GOODS	- 0-		
	Cutters Receiver Gloves or approved equal, #RFBG2A			EA	VARSITY BRANDS HOLDINGS CO INC	84	\$10.76	\$903.84
47	Color to follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	80		
				PR	AMERICA TEAM SPORTS	80	\$30.00	\$2,400.00
48	Cutters Lineman Gloves or approved equal, #017LP Color to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	30	\$35.00	\$1,050.00
				EA	*BARCELONA SPORTING GOODS	30		
	Wilson GST Footballs with school name No seconds) -no							
49	subs -District Approved Ball	Υ		EA	*BARCELONA SPORTING GOODS	64		
				EA	AMERICA TEAM SPORTS	64	\$75.00	\$4,800.00
					AMERICA TEAM OF ORTO	04	\$75.00	ψ4,000.00
50	Big Game Footballs with school logo or approved equal					NB	NB	NB
	Twin City OSK Socks or approved equal, size 10-13 Color to follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	200		
				PR	AMERICA TEAM SPORTS	200	\$2.29	\$458.00
				PR	PYRAMID SCHOOL PRODUCTS	200	\$3.30	\$660.00
				PR	VARSITY BRANDS HOLDINGS CO INC	200	\$4.08	\$816.00
				PR	ALERT SERVICES INC	200	\$4.28	\$856.00
52	Twin City Crew Socks or approved equal, white #FRBCREW	Υ		DZN	*BARCELONA SPORTING GOODS	20	Ų 11 <u>2</u> 0	4000100
				DZN	AMERICA TEAM SPORTS	20	\$18.00	\$360.00
				D7N	PYRAMID SCHOOL PRODUCTS		640.00	£204.00
				DZN	PYRAMID SCHOOL PRODUCTS	20	\$19.08	\$381.60
				DZN	VARSITY BRANDS HOLDINGS CO INC	20	\$43.56	\$871.20
53	Twin City Baseline Sports Socks or approved equal, BBPC1 Color to follow when order is placed	Υ		DZN	PYRAMID SCHOOL PRODUCTS	40	\$29.50	\$1,180.00
				DZN	AMERICA TEAM SPORTS	40	\$62.95	\$2,518.00
							,	, ,
				DZN	*BARCELONA SPORTING GOODS	40		
	McDavid Girdles (padded) or approved equal, #7555T-			DZN	VARSITY BRANDS HOLDINGS CO INC	40	\$73.44	\$2,937.60
54	Hexpad Color to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	100	\$20.45	\$2,045.00
				EA	ALERT SERVICES INC	100	\$29.90	\$2,990.00
					*DADCELONA CROPTING COOPS	100		
	McDavid Girdles (padded) #757 or approved equal, white Hip/thigh pad hex pad Thudd Sizes to follow when order is			EA	*BARCELONA SPORTING GOODS	100		
55	Hip/thigh pad hex pad Thudd Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	151	\$20.45	\$3,087.95

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	ALERT SERVICES INC	151	\$29.90	\$4,514.90
				LA	ALERT SERVICES INC	131	\$29.90	\$4,514.90
				EA	*BARCELONA SPORTING GOODS	151		
50	McDavid Hex Short with Wrap-Around Thigh Girdle or approved equal, #7991, black Sizes to follow when order is				AMERICA TEAM CROPES	24	****	\$570.00
56	placed	Y		EA	AMERICA TEAM SPORTS	24	\$24.00	\$576.00
				EA	*BARCELONA SPORTING GOODS	24		
	Adidas Custom Football Game Jersey or approved equal, #7689 with two color lettering & numbers Sizes to follow						***	
	when order is placed A+B141:1146didas Tech Fit All American Jersey with two color lettering & numbers or approved equal, Color & sizes			EA	AMERICA TEAM SPORTS	85	\$85.75	\$7,288.75
				EA	AMERICA TEAM SPORTS	61	\$88.95	\$5,425.95
	Adidas Techfit Jerseys or approved equal, #7689 Two color number on front, two color number & lettering on							
				EA	AMERICA TEAM SPORTS	6	\$90.00	\$540.00
60	#AD00833M Two color lettering & numbers Sizes to follow when order is placed			EA	AMERICA TEAM SPORTS	75	\$87.00	\$6,525.00
61	Y+B141:l146			PR	AMERICA TEAM SPORTS	18	\$52.00	\$936.00
62	Adidas Techfit Football Pant or approved equal, #9649	Υ		PR	AMERICA TEAM SPORTS	40	\$52.00	\$2,080.00
02	Adidas Adizero Game Cleats or approved equal, #842466			FK	AMERICA TEAM SFORTS	40	\$32.00	\$2,000.00
63		Y		PR	AMERICA TEAM SPORTS	60	\$57.95	\$3,477.00
				PR	*BARCELONA SPORTING GOODS	60		
64	Adidas Adizero Game Cleats or approved equal, #B42466 Mid Top, color & sizes to follow	Υ		PR	AMERICA TEAM SPORTS	10	\$63.95	\$639.50
				PR	*BARCELONA SPORTING GOODS	10		
05	Adidas Freak Football Shoes or approved equal, #S84743				AMERICA TEAM CROPES	60	\$00.7F	64 705 00
65	Sizes to follow when order is placed	Y		PR	AMERICA TEAM SPORTS	60	\$29.75	\$1,785.00
				DD.	*PARCELONA SPORTING COORS	60		
66	Adidas Response Boost Shoes or approved equal, #S77417 Color & sizes to follow when order is placed	Υ		PR PR	*BARCELONA SPORTING GOODS AMERICA TEAM SPORTS	18	\$94.95	\$1,709.10
- 00	Adidas Adizero 5-star or approved equal, #B42485 Mid				AMERICA TEAM OF ORTO	10	ψ54.55	\$1,703.10
67		Υ		PR	AMERICA TEAM SPORTS	10	\$61.95	\$619.50
00	Adidas Adizero Game Cleat or approved equal, #AQ8141			PR	*BARCELONA SPORTING GOODS	10	¢00.05	¢2 777 00
68	Color & sizes to follow when order is placed	ĭ		PR	AMERICA TEAM SPORTS	60	\$62.95	\$3,777.00
				PR	*BARCELONA SPORTING GOODS	60		
69	Adidas Adizero Game Cleat or approved equal, #AQ8777 Color & sizes to follow when order is placed	Y		PR	AMERICA TEAM SPORTS	60	\$45.75	\$2,745.00
				PR	*BARCELONA SPORTING GOODS	60		
70	Adidas Speed Trainer 2 Shoes or approved equal, #S84743 Color & Sizes to follow when order is placed	Υ		PR	AMERICA TEAM SPORTS	20	\$45.00	\$900.00
				PR	*BARCELONA SPORTING GOODS	20		
	Adidas 5 Star Custom Gloves or approved equal, #AF0601-							
71				PR	AMERICA TEAM SPORTS	36	\$30.00	\$1,080.00
	color lettering on front Color, color of lettering & sizes to	Υ		EA	HEALY AWARDS INC	200	\$5.65	\$1,130.00
_								
				EA	AMERICA TEAM SPORTS	200	\$8.50	\$1,700.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	*BARCELONA SPORTING GOODS	200		
	Adidas Short Sleeve T-shirt or approved equal, #2946 One color lettering on front Color, color of lettering & sizes to							
73	follow when order is placed	Υ		EA	HEALY AWARDS INC	20	\$7.90	\$158.00
				EA	*BARCELONA SPORTING GOODS	20		
				EA	AMERICA TEAM SPORTS	20	\$17.00	\$340.00
	Adidas Heather Climalite Short Sleeve Shirt or approved							
74	equal, #2946, color & sizes to follow when order is placed	Υ		EA	*BARCELONA SPORTING GOODS	17		
				EA	AMERICA TEAM SPORTS	17	\$17.00	\$289.00
75	Adidas Long Sleeve T-shirt or approved equal#2996 Color & sizes to follow when order is placed	Υ		EA	*BARCELONA SPORTING GOODS	17	,	
				EA	AMERICA TEAM SPORTS	17	\$20.75	\$352.75
	Adidas Long Sleeve T-shirt or approved equal, #2996 One color lettering Color, color of lettering & sizes to follow						***	
76	when order is placed	Y		EA	HEALY AWARDS INC	20	\$12.15	\$243.00
							440.05	****
				EA	AMERICA TEAM SPORTS	20	\$18.95	\$379.00
	Adidas Long Sleeve T-shirt or approved equal, #2996 Two			EA	*BARCELONA SPORTING GOODS	20		
77	color lettering Color, color of lettering & sizes to follow when order is placed			EA	HEALY AWARDS INC	20	\$13.15	\$263.00
				EA	*BARCELONA SPORTING GOODS	20		
					BARGLEONA OF ORTING GOODS	20		
	Adidas Mens Tech Fit or approved equal, Short Sleeve Shirt With one color lettering Color, lettering & sizes to follow			EA	AMERICA TEAM SPORTS	20	\$20.75	\$415.00
78	With one color lettering Color, lettering & sizes to follow when order is placed	Υ		EA	HEALY AWARDS INC	60	\$14.75	\$885.00
				EA	*BARCELONA SPORTING GOODS	60		
	Adidas Mens Tech Fitor approved equal, Long Sleeve Shirt			EA	AMERICA TEAM SPORTS	60	\$17.95	\$1,077.00
79	With one color lettering Color, lettering & sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	60	\$17.95	\$1,077.00
							VII 100	41,011-00
				EA	*BARCELONA SPORTING GOODS	60		
				EA	HEALY AWARDS INC	60	\$18.75	\$1,125.00
80	Adidas Long Sleeve Climalite Tee Techfit or approved equal #A13352, color & sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	61	\$15.75	\$960.75
				EA	*BARCELONA SPORTING GOODS	61		
04	Adidas Go to Performance Tee or approved equal, #629T	V					\$44.00	¢054.00
81	Color & sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	61	\$14.00	\$854.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
	Adidas ¼ Zip Cage Jacket or approved equal, #6732 Color			EA	*BARCELONA SPORTING GOODS	61		
82	& sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	20	\$25.00	\$500.00
				EA	*BARCELONA SPORTING GOODS	20		
	Adidas Modern Varsity Long Sleeve ¼ Zip or approved equal, #6702 Power Red with SG two color logo							
83		Υ		EA	AMERICA TEAM SPORTS	20	\$35.00	\$700.00
84	Adidas Long Sleeve Tee Climalite Tech Fit or approved equal, #A13352, color & size to follow when order is placed	٧		EA	AMERICA TEAM SPORTS	61	\$14.95	\$911.95
		•						
				EA	*BARCELONA SPORTING GOODS	61		
85	Adidas Fielder Choice Fleece Top or approved equal #362F Color & sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	20	\$32.00	\$640.00
				EA	*BARCELONA SPORTING GOODS	20		
	Adidas Game Day ¼ Zip or approved equal, #6814LMW							
86		Υ		EA	AMERICA TEAM SPORTS	17	\$25.00	\$425.00
	Adidas Game Built Short Sleeve ¼ Zip or approved equal, #225T white/collegiate royal with two color SG logo							
87	embroidered on chest Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	20	\$33.00	\$660.00
88	Adidas Adjustable Visor or approved equal, #W676Z NG" one color lettering on front	Υ		EA	AMERICA TEAM SPORTS	24	\$11.50	\$276.00
	Adidas Adjustable Visor or approved equal, #W676Z with						***	****
89	SG cross swords logo on front	Υ		EA	AMERICA TEAM SPORTS	20	\$12.00	\$240.00
	Adidas Adizero II Team Cap or approved equal, with one							
90	Color lettering	Υ		EA	AMERICA TEAM SPORTS	36	\$15.00	\$540.00
	Adidas Game Cap or approved equal, #SF7, royal with two							
91	Color SG logo on front	Υ		EA	AMERICA TEAM SPORTS	20	\$15.00	\$300.00
	Adidas Practice Cap or approved equal, #212R, royal with							
92	two Color SG logo on front Adidas Game Built Polo or approved equal, #1863 with two	Υ		EA	AMERICA TEAM SPORTS	20	\$8.00	\$160.00
93	color embroidery, color, sizes & color of embroidery to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	20	\$25.00	\$500.00
94	Adidas Two A Day Shirts or approved equal, #1891LEA Lead, sizes to follow when order is placed	Y		EA	AMERICA TEAM SPORTS	17	\$30.00	\$510.00
Ţ.								
2-	Adidas Varsity Polo or approved equal, #1852, royal with				AMERICA TEAM OROBEO	-0.0	40.	A=
95	Adidas Game Built Vest or approved equal, #6564,	Y		EA	AMERICA TEAM SPORTS	20	\$35.00	\$700.00
96	onyx/white SG two color logo embroidered on chest Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	20	\$42.00	\$840.00
97	Adidas Metro IV OTC Socks or approved equal	Υ		DZN	AMERICA TEAM SPORTS	30	\$50.00	\$1,500.00
	Adidas Sweats or approved equal, hooded top & pant with							,
98	Adidas Practice Shorts #AD03027M or approved equal,	Υ		SET	AMERICA TEAM SPORTS	50	\$45.00	\$2,250.00
99	State of Texas Design Color & sizes to follow when order is placed $\label{eq:color} % \begin{center} c$	Υ		PR	AMERICA TEAM SPORTS	80	\$25.00	\$2,000.00
100	Adidas 5 Pocket Girdles or approved equal, #927 Color & sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	100	\$14.00	\$1,400.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	*BARCELONA SPORTING GOODS	100		
	Adidas Ironskin 5 Pad Short Sleeve Shirt or approved equal, #AD03027M with two color State of Texas Mustang							
101	Logo on front, sizes to follow when order is placed			EA	AMERICA TEAM SPORTS	24	\$48.00	\$1,152.00
102	Adidas practice jersey or approved equal, with numbers Color, sizes & numbers to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	50	\$20.95	\$1,047.50
				EA	*BARCELONA SPORTING GOODS	50		
103	Nike Air Zoom Pegasus 34 or approved equal, Color & sizes to follow when order is placed	Υ		PR	VARSITY BRANDS HOLDINGS CO INC	19	\$65.63	\$1,246.97
				PR	*BARCELONA SPORTING GOODS	19		
104	Nike Speed TD Game Shoes or approved equal, #442244 Low & mid top Color & sizes to follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	56		
				PR	VARSITY BRANDS HOLDINGS CO INC	56	\$55.08	\$3,084.48
	Nike Free 5.0 Trainer Men's Shoes or approved equal, Color							
105	& sizes to follow when order is placed	Y		PR	*BARCELONA SPORTING GOODS	35		
					WARRIEW DRAWING HOLDINGS OF THE		405.00	40 007 05
				PR	VARSITY BRANDS HOLDINGS CO INC	35	\$65.63	\$2,297.05
106	Nike Elite Crew Game Socks or approved equal, royal blue	Υ		DZN	VARSITY BRANDS HOLDINGS CO INC	3	\$9.00	\$27.00
106	Nike Short Sleeve Dri-fit Shirt or approved equal, #384407			DZN	*BARCELONA SPORTING GOODS	3		
107	with two color lettering, sizes to follow when order is placed	Υ		EA	HEALY AWARDS INC	50	\$11.25	\$562.50
				EA	VARSITY BRANDS HOLDINGS CO INC	50	\$17.73	\$886.50
				EA	*BARCELONA SPORTING GOODS	50		
	Nike Pro Cool Compression Short Sleeve or approved equal, Shirt with two color lettering Color, lettering & sizes							
108	to follow when order is placed	Υ		EA	*BARCELONA SPORTING GOODS	40		
				EA	VARSITY BRANDS HOLDINGS CO INC	40	\$20.92	\$836.80
	Nike Legacy 91 Swoosh Flex Cap or approved equal, With							
109	one color embroidery Color & embroidery to follow when order is placed	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	24	\$17.62	\$422.88
1								
				EA	*BARCELONA SPORTING GOODS	24		
	Nike Pre-season Polo or approved equal, #658080 with one color embroidery, sizes, color & color of lettering when			EA	DANGELONA SPORTING GOODS	24		
110	order is placed	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	40	\$41.25	\$1,650.00
				EA	*BARCELONA SPORTING GOODS	40		
	Nike Early Season Polo or approved equal,#845840-480 Game Royal/White/White with one color embroidery Sizes							
111	& lettering to follow when order is placed	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	19	\$41.25	\$783.75
				EA	*BARCELONA SPORTING GOODS	19		

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
112	Nike Dedication W Polo or approved equal, #621956-494 TM Royal/TM White/TM White with one color embroidery Sizes & lettering to follow when order is placed	Y		EA	*BARCELONA SPORTING GOODS	3		
				EA	VARSITY BRANDS HOLDINGS CO INC	3	\$41.25	\$123.75
113	Nike Sparq Agility Web or approve equal #NEX11-829			EA	*BARCELONA SPORTING GOODS	3		
114	Schutt Universal Jaw Pads or approved equal, #7743 Color to follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	20		
				PR	AMERICA TEAM SPORTS	20	\$5.00	\$100.00
	Schutt DNA Universal Jaw Pads or approved equal, Color							
115	to follow when order is placed	Y		PR	AMERICA TEAM SPORTS	70	\$5.00	\$350.00
	Schutt Inter-link Jaw Pads or approved equal, #140083090,			PR	*BARCELONA SPORTING GOODS	70		
116	Silver	Y		PR	*BARCELONA SPORTING GOODS	12		
				PR	AMERICA TEAM SPORTS	12	\$10.00	\$120.00
117	Schutt Inter-link Jaw Pads #14003290 or approved equal, Silver	Y		PR	*BARCELONA SPORTING GOODS	12		
				PR	AMERICA TEAM SPORTS	12	\$10.00	\$120.00
110	Schutt Air Maxx 5/8"TPU Jaw Pads or approved equal, #140082090, silver	v		PR	*BARCELONA SPORTING GOODS	12		
110	#140002030, 311Vel	'			BARGEEGNA SI OKTING GOODS	12		
	Schutt Air Maxx 1"TPU Jaw Pads or approved equal,			PR	AMERICA TEAM SPORTS	12	\$6.50	\$78.00
119	#140084090, color to follow when order is placed	Y		PR	*BARCELONA SPORTING GOODS	17		
				PR	AMERICA TEAM SPORTS	17	\$6.50	\$110.50
120	Schutt Air Maxx 1 1/8"TPU Jaw Pads or approved equal, #140085090, color to follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	17		
				PR	AMERICA TEAM SPORTS	17	\$6.50	\$110.50
121	Schutt Air Maxx 1 3/8"TPU Jaw Pads or approved equal, #140016090, color to follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	17		
				PR	AMERICA TEAM SPORTS	17	\$6.50	\$110.50
122	Schutt Chin Straps or approved equal, #7855, high hook-up Hard cup, color to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	150	\$8.95	\$1,342.50
				EA	*BARCELONA SPORTING GOODS	150		
123	Schutt Chin Straps or approved equal, #7858 Color to follow when order is placed	Y		EA	AMERICA TEAM SPORTS	20	\$8.95	\$179.00
				EA	*BARCELONA SPORTING GOODS	20		
124	Schutt DNA Varsity Sideline Kit or approved equal, #8500-V	Y		EA	AMERICA TEAM SPORTS	3	\$190.00	\$570.00
				EA	*BARCELONA SPORTING GOODS	3		
125	Schutt Helmet Repair Packets or approved equal	Υ		EA	AMERICA TEAM SPORTS	150	\$2.80	\$420.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
	Sobutt Venescope VTDII or opproved excel #204004 Door			EA	*BARCELONA SPORTING GOODS	150		
	Schutt Vengeance VTDII or approved equal, #204801 Pearl Navy with attached black facemasks HP switch -all black, black chin strap Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	26	\$197.00	\$5,122.00
120	Mack Chill Strap Cizes to follow when order is placed				AMERICA TEAM OF ORTO		ψ131.00	ψ3,122.00
				EA	*BARCELONA SPORTING GOODS	26		
	Schutt Vengeance VTDII or approved equal, #204801 Black with black face mask, black chin strap Sizes to follow when			2.71	DAMODE DIVINO CONTINUE CONTINU	20		
127	order is placed	Y		EA	AMERICA TEAM SPORTS	10	\$197.00	\$1,970.00
				EA	*BARCELONA SPORTING GOODS	10		
	Schutt Vengeance DCT Helmet Maroon with navy face mask & maroon hard cup chin strap or approved equal,			271	DAMODE DIVINO CONTINUE CONTINU			
		Υ		EA	AMERICA TEAM SPORTS	12	\$195.00	\$2,340.00
	Schutt Vengeance VTD II Helmet Maroon with navy face			EA	*BARCELONA SPORTING GOODS	12		
	mask & maroon hard cup chin strap or approved equal, #2048014CCC & 2048015CCC	Υ		EA	AMERICA TEAM SPORTS	12	\$195.00	\$2,340.00
				EA	*BARCELONA SPORTING GOODS	12		
	Schutt Vengeance VTD II or approved equal, #204801 Metallic Royal with grey (silver) face mask Royal blue chin							
	strap, sizes and face masks to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	20	\$197.00	\$3,940.00
	Schutt DNA Recruit Helmets or approved equal, white with			EA	*BARCELONA SPORTING GOODS	20		
	gray facemask installed, sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	200	\$77.00	\$15,400.00
	Schutt DNA Pro Helmets or approved equal, Vegas Gold			EA	*BARCELONA SPORTING GOODS	200		
	with Seattle Blue facemask, sizes & style of facemask to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	28	\$197.00	\$5,516.00
				EA	*BARCELONA SPORTING GOODS	28		
133	Schutt Jr. Pro 7900 Shoulder Pads or approved equal	Υ		PR	AMERICA TEAM SPORTS	80	\$36.00	\$2,880.00
				PR	*BARCELONA SPORTING GOODS	80		
134	Schutt Shoulder Pad Strapping or approved equal, black	Y		RL	AMERICA TEAM SPORTS	12	\$25.00	\$300.00
				RL	*BARCELONA SPORTING GOODS	12		
135	Schutt Inflator Pumps or approved equal	Y		EA	AMERICA TEAM SPORTS	4	\$8.00	\$32.00
				EA	*BARCELONA SPORTING GOODS	4		
	Schutt Varsity Shoulder Pad Backplates or approved equal, #79923000	Υ		EA	AMERICA TEAM SPORTS	10	\$15.00	\$150.00
				EA	*BARCELONA SPORTING GOODS	10		
137	Schutt Air Flex Shoulder Pads or approved equal, #940500	Υ		PR	AMERICA TEAM SPORTS	10	\$36.00	\$360.00
				PR	*BARCELONA SPORTING GOODS	10		

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
120	Schutt Varsity Flex Shoulder Pads or approved equal, #800217	Υ		PR	AMERICA TEAM SPORTS	10	\$94.00	\$940.00
130	#800217			FK	AMERICA TEAM SPORTS	10	\$94.00	\$940.00
				PR	*BARCELONA SPORTING GOODS	10		
139	Schutt Skill Air Maxx Shoulder Pads or approved equal, #801817, sizes to follow when order is placed	Υ		PR	AMERICA TEAM SPORTS	24	\$165.00	\$3,960.00
	Schutt Air Maxx OL/DL Shoulder Pads or approved equal,			PR	*BARCELONA SPORTING GOODS	24		
140	#801855, sizes to follow when order is placed	Y		PR	AMERICA TEAM SPORTS	12	\$165.00	\$1,980.00
				PR	*BARCELONA SPORTING GOODS	12		
					DAMODE DIVINO DAMING DODGE			
141	Schutt Air Maxx Rib Protector or approved equal, #800802 Black	V		PR	AMERICA TEAM SPORTS	24	\$32.00	\$768.00
141	DIALK	Y		FK	AMERICA TEAM SPORTS	24	φ32.00	\$708.00

				PR	*BARCELONA SPORTING GOODS	24		
142	Schutt 1 ½'Shoulder Pad T-hooks or approved equal	Υ		EA	*BARCELONA SPORTING GOODS	450		
				E4	AMEDICA TEAM SPORTS	450	£0.50	¢225.00
				EA	AMERICA TEAM SPORTS	450	\$0.50	\$225.00
				EA	ALERT SERVICES INC	450	\$18.40	\$8,280.00
143	Schutt Twist Release Retainer or approved equal, white, #15001192	Υ		EA	AMERICA TEAM SPORTS	12	\$7.00	\$84.00
				EA	*BARCELONA SPORTING GOODS	12		
	Schutt Air Cushioned Knee Pads or approved equal,							
144	#13420102 DKP-YA	Y		PR	AMERICA TEAM SPORTS	60	\$7.00	\$420.00
				PR	*BARCELONA SPORTING GOODS	60		
145	Schutt Skill Position Varsity Knee Pads or approved equal, #13440402 DKP-SK	Υ		PR	*BARCELONA SPORTING GOODS	60		
				PR	AMERICA TEAM SPORTS	60	\$4.75	\$285.00
146	Schutt Reinforced Universal Varsity Thigh Pads or			PR	AMERICA TEAM SPORTS	60	\$6.25	\$375.00
140	approved equal #13201202 VTP			FK	AMERICA TEAM SFORTS	60	\$0.23	\$373.00
1/17	Schutt Universal Youth Thigh Pads or approved equal #132810302 YTPE	Υ		PR	AMERICA TEAM SPORTS	60	\$7.00	\$420.00
1-4/				- I	-AMERICA TEAM OF ORTO	-00	φ7.00	ψ4/20.00
				PR	*BARCELONA SPORTING GOODS	60		
	Schutt Varsity/Youth Tailbone Pads or approved equal							
148	#13021202 RTPP	Υ		PR	*BARCELONA SPORTING GOODS	60		
				PR	AMERICA TEAM SPORTS	60	\$2.50	\$150.00
1/10	Schutt 7piece Pad Set or approved equal, HD Slotted #13661101	Υ		PR	AMERICA TEAM SPORTS	60	\$12.75	\$765.00
1=10					TAMENION PEAN OF ORTO	-00	ψ1/2 .7 / Đ	Ψ7 05.00
				PR	*BARCELONA SPORTING GOODS	60		
150	Schutt FB Helmet Cover or approved equal	Υ		DZN	AMERICA TEAM SPORTS	5	\$30.00	\$150.00
				DZN	*BARCELONA SPORTING GOODS	5		

Bittern Description N Reason U/M Supplier City Price P	Line		Award (Y /						Extended
20 20 20 20 20 20 20 20	#	•	N)	Reason	UOM	Supplier	Qty	Price	Price
### AMERICATE AM SPORTS 100 \$1.00		3'black lettering OWL'with a 5'black football -WE WILL WIN"							
EA SARCELOMA SPORTING GOODS 100 58.15 5811.500	151		Υ		EA	AMERICA TEAM SPORTS	100	\$5.00	\$500.00
EA SARCELOMA SPORTING GOODS 100 58.15 5811.500						VAR 017 V RR ANDO 1101 RINGO 00 1110		40.55	4055.00
Russell T-shirts or approved equal st4010 5050, white with 7-black letering outlined in gold distance of the state of the					EA	VARSITY BRANDS HOLDINGS CO INC	100	\$6.55	\$655.00
Russell Fabris or approved equal #6000 0050, while with 3-black Intering political in good of the plant of th					EA	*BARCELONA SPORTING GOODS	100		
Russell T-chirts or approved equal, #MADD 500fb, gray with "Typid lettering outlined in black CVIL" with a \$1 black of the control of the con					EA	HEALY AWARDS INC	100	\$8.15	\$815.00
122 DOTTERLE SIZE OF FORM Without A SECOND TO SECOND STATE STATE OF SECOND STATE					EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$11.25	\$1,125.00
122 DOTTERLE SIZE OF FORM Without A SECOND TO SECOND STATE STATE OF SECOND STATE		Puscell T-shirts or approved equal #64030 50/50 gray with							
EA AMERICA TEAM SPORTS 200 \$5.00 \$1,000.00 EA - BARCELONA SPORTING GOODS 200 EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.68 \$1,530.00 EA NOCKOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2,280.00 Russell T-shirts or approved equal 864030 5050, white with 13back intering outlined in gold ONL-with a 5 black incomposition of the state of the		3'gold lettering outlined in black OWL'with a 5'black							
EA VARSITY BRANDS HOLDINGS CO INC 200 \$1.55 \$1,530,000 EA HEALY AWARDS INC 200 \$8.16 \$1,530,000 EA RONGCOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2,250,000 EA RONGCOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2,250,000 EA RONGCOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2,250,000 EA AMERICA TEAMS SPORTS 100 \$4.03 \$405,000 EA AMERICA TEAM SPORTS 100 \$4.05 \$4.05 \$405,000 EA VARSITY BRANDS HOLDINGS CO INC 100 \$6.35 \$635,000 EA VARSITY BRANDS HOLDINGS CO INC 100 \$7.20 \$720,000 EA RONGCOUT SPORTSWEAR.COM LLC 100 \$7.20 \$720,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$4.65 \$465,000 EA AMERICA TEAM SPORTS 100 \$4.65 \$465,000 EA AMERICA TEAM SPORTS 100 \$4.65 \$465,000 EA RONGCOUT SPORTSWEAR.COM LLC 100 \$7.20 \$720,000 EA HEALY AWARDS INC 100 \$4.65 \$465,000 EA HEALY AWARDS INC 100 \$4.65 \$465,000 EA AMERICA TEAM SPORTS 100 \$5.50 \$500,000 EA AMERICA TEAM SPORTS 100 \$5.50 \$500,000 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585,000 EA AMERICA TEAM SPORTS 100 \$5.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585,000 EA RONGCOUT SPORTSWEAR.COM LLC 100 \$5.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$6.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$6.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$6.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$6.65 \$1.330,000 EA HEALY AWARDS INC 200 \$6.65 \$1.330,000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA HEALY AWARDS INC 200 \$6.65 \$1.330,000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA WARSITY BRANDS HOLDINGS CO	152	FOOTBALL'Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	200	\$5.00	\$1,000.00
EA VARSITY BRANDS HOLDINGS CO INC 200 \$1.55 \$1,530,000 EA HEALY AWARDS INC 200 \$8.16 \$1,530,000 EA RONGCOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2,250,000 EA RONGCOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2,250,000 EA RONGCOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2,250,000 EA AMERICA TEAMS SPORTS 100 \$4.03 \$405,000 EA AMERICA TEAM SPORTS 100 \$4.05 \$4.05 \$405,000 EA VARSITY BRANDS HOLDINGS CO INC 100 \$6.35 \$635,000 EA VARSITY BRANDS HOLDINGS CO INC 100 \$7.20 \$720,000 EA RONGCOUT SPORTSWEAR.COM LLC 100 \$7.20 \$720,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$4.65 \$465,000 EA AMERICA TEAM SPORTS 100 \$4.65 \$465,000 EA AMERICA TEAM SPORTS 100 \$4.65 \$465,000 EA RONGCOUT SPORTSWEAR.COM LLC 100 \$7.20 \$720,000 EA HEALY AWARDS INC 100 \$4.65 \$465,000 EA HEALY AWARDS INC 100 \$4.65 \$465,000 EA AMERICA TEAM SPORTS 100 \$5.50 \$500,000 EA AMERICA TEAM SPORTS 100 \$5.50 \$500,000 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585,000 EA AMERICA TEAM SPORTS 100 \$5.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585,000 EA RONGCOUT SPORTSWEAR.COM LLC 100 \$5.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$6.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$6.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 100 \$6.50 \$500,000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$6.65 \$1.330,000 EA HEALY AWARDS INC 200 \$6.65 \$1.330,000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA HEALY AWARDS INC 200 \$6.65 \$1.330,000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA WARSITY BRANDS HOLDINGS CO INC 200 \$7.46 \$1.4000 EA WARSITY BRANDS HOLDINGS CO						*DADOEL ONA SPORTING GOODS			
EA HEALY AWARDS INC 200 \$8.15 \$1,630,000					EA	BARCELONA SPORTING GOODS	200		
EA KNOCKOUT SPORTSWEAR.COM LLC 200 \$11.25 \$2.250.00 TRISHIT CHAINTY OF SUPPOWED SQUED WHITE SPECIAL SQUED SQUED WHITE SPECIAL SQUED SQUED WHITE SQUED					EA	VARSITY BRANDS HOLDINGS CO INC	200	\$7.65	\$1,530.00
Reseal T-shirts or approved equal £4000 5000, white with 310bbck lettering cultimed in gold GWI-with a 51bbbck rotothall VI hadde in gold GWI-with a 51bbbck rotothall VI hadde in gold Sizes to follow when erder is placed EA AMERICA TEAM SPORTS 100 \$4.55 \$465.00 EA AMERICA TEAM SPORTING GOODS 100 \$4.75 \$475.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$6.35 \$835.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$7.20 \$720.00 Russell T-shirts or approved equal £4000 5000, black with gold kittering, contect couch for lettering Sizes to follow when order is placed EA AMERICA TEAM SPORTING GOODS 100 \$5.50 \$500.00 EA AMERICA TEAM SPORTING GOODS 100 \$5.50 \$500.00 EA AMERICA TEAM SPORTING GOODS 100 \$5.50 \$500.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA WARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA AMERICA TEAM SPORTING GOODS 200 \$5.50 \$5.00.00 EA AMERICA TEAM SPORTING GOODS 200 \$5.50 \$5.00.00 EA AMERICA TEAM SPORTING GOODS 200 \$5.50 \$1.30.00 EA HEALY AWARDS INC 200 \$5.55 \$1.30.00					EA	HEALY AWARDS INC	200	\$8.15	\$1,630.00
Reseal T-shirts or approved equal £4000 5000, white with 310bbck lettering cultimed in gold GWI-with a 51bbbck rotothall VI hadde in gold GWI-with a 51bbbck rotothall VI hadde in gold Sizes to follow when erder is placed EA AMERICA TEAM SPORTS 100 \$4.55 \$465.00 EA AMERICA TEAM SPORTING GOODS 100 \$4.75 \$475.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$6.35 \$835.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$7.20 \$720.00 Russell T-shirts or approved equal £4000 5000, black with gold kittering, contect couch for lettering Sizes to follow when order is placed EA AMERICA TEAM SPORTING GOODS 100 \$5.50 \$500.00 EA AMERICA TEAM SPORTING GOODS 100 \$5.50 \$500.00 EA AMERICA TEAM SPORTING GOODS 100 \$5.50 \$500.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA WARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$5.85.00 EA AMERICA TEAM SPORTING GOODS 200 \$5.50 \$5.00.00 EA AMERICA TEAM SPORTING GOODS 200 \$5.50 \$5.00.00 EA AMERICA TEAM SPORTING GOODS 200 \$5.50 \$1.30.00 EA HEALY AWARDS INC 200 \$5.55 \$1.30.00					EA	KNOCKOUT SPORTSWEAR.COM LLC	200	\$11.25	\$2.250.00
Saback lettering outlined in gold Sizes to follow when order is EA HEALY AWARDS INC 100 \$4.85 \$465.00								**********	, _,
EA HEALY AWARDS INC 100 \$4.65 \$465.00		3'black lettering outlined in gold OWL'with a 5'black							
EA	153		Υ		EA	HEALY AWARDS INC	100	\$4.65	\$465.00
EA									
EA VARSITY BRANDS HOLDINGS CO INC 100 \$6.35 \$635.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$7.20 \$720.00 Russell T-shirts or approved equal #64030 50/50, black with gold lettering, contact coach for lettering Sizes to follow when order is placed Y EA HEALY AWARDS INC 100 \$4.65 \$465.00 EA AMERICA TEAM SPORTS 100 \$5.00 \$500.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585.00 EA VARSITY BRANDS HOLDINGS CO INC 100 \$8.50 \$850.00 Russell T-shirts or approved equal #64030 50/50, navy with white lettering mustang horse toward left arm in middle horse is not sold cuttling only FOOTBALLL*Suttlined BackYGO BLUE*white 155 \$1.00 \$1.30.00 EA AMERICA TEAM SPORTS 200 \$4.50 \$300.00 EA AMERICA TEAM SPORTS 200 \$4.50 \$300.00 EA AMERICA TEAM SPORTS 200 \$4.50 \$300.00 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA HEALY AWARDS INC 200 \$7.45 \$1,490.00								\$4.75	\$475.00
Russell T-shirts or approved equal #64030 50/50, black with gold lettering, contact coach for lettering Sizes to follow when order is placed Y EA HEALY AWARDS INC 100 \$4.65 \$465.00 \$500.00 EA HEALY AWARDS INC 100 \$5.00 \$500.00 \$500.00 EA WARSITY BRANDS HOLDINGS CO INC 100 \$8.50 \$850.00 \$850.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$5.85 \$585.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$8.50 \$850.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$8.50 \$850.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$8.50 \$850.00 EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA BARCELONA SPORTING GOODS 200 \$6.65 \$1,330.00 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA WARSITY BRANDS HOLDINGS CO INC 200 \$6.65 \$1,330.00					EA	*BARCELONA SPORTING GOODS	100		
Russell T-shirts or approved equal #64030 50/50, black with gold lettering, contact coach for lettering Sizes to follow when order is placed EA HEALY AWARDS INC EA HEALY AWARDS INC 100 \$4.65 \$465.00 EA AMERICA TEAM SPORTS 100 \$5.00 \$500.00 EA VARSITY BRANDS HOLDINGS CO INC Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG on top 5'butlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLY auditional Back—TGO BLUE* white 8 orange Sizes to follow when order is placed EA HEALY AWARDS INC EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA HEALY AWARDS INC 200 \$5.65 \$1,330.00 EA VARSITY BRANDS HOLDINGS CO INC 200 \$5.65 \$1,330.00					EA	VARSITY BRANDS HOLDINGS CO INC	100	\$6.35	\$635.00
### With gold lettering, contact coach for lettering Sizes to ### HEALY AWARDS INC ### 100 \$4.65 \$465.00 ### 100 \$4.65 \$465.00 ### 100 \$4.65 \$465.00 ### 100 \$5.00 \$500.00 ### 100 \$500.					EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$7.20	\$720.00
FA									
EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$8.50 \$850.00 Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG'on top 5'butlined running mustang horse toward left arm in middle horse is not solid-outline only FOOTBALLL'outlined Back -7'60 BLUE'white a orange Sizes to follow when order is placed Y EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.45 \$1,490.00	154		Υ		EA	HEALY AWARDS INC	100	\$4.65	\$465.00
EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$8.50 \$850.00 Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG'on top 5'butlined running mustang horse toward left arm in middle horse is not solid-outline only FOOTBALLL'outlined Back -7'60 BLUE'white a orange Sizes to follow when order is placed Y EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.45 \$1,490.00									
EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$8.50 \$850.00 Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG'on top 5'outlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL'outlined Back -7'GO BLUE' white 2					EA	AMERICA TEAM SPORTS	100	\$5.00	\$500.00
EA VARSITY BRANDS HOLDINGS CO INC 100 \$5.85 \$585.00 EA KNOCKOUT SPORTSWEAR.COM LLC 100 \$8.50 \$850.00 Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG'on top 5'outlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL'outlined Back -7'GO BLUE' white 2									
Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG'on top 5'butlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL"outlined Back -7'GO BLUE'white & orange Sizes to follow when order is placed Y EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA *BARCELONA SPORTING GOODS 200 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00					EA	*BARCELONA SPORTING GOODS	100		
Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG'on top 5'butlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL"outlined Back -7'GO BLUE'white & orange Sizes to follow when order is placed Y EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA *BARCELONA SPORTING GOODS 200 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00									
Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG'on top 5'butlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL"outlined Back -7'GO BLUE'white & orange Sizes to follow when order is placed Y EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA *BARCELONA SPORTING GOODS 200 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00					FΔ	VARSITY BRANDS HOLDINGS COUNC	100	\$5.85	\$585 00
Russell T-shirts or approved equal #64030 50/50, navy with white lettering MUSTANG*on top 5*butlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL*outlined Back -7*GO BLUE*white 8 orange Sizes to follow when order is placed FA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.45 \$1,490.00						THE STATE OF THE S		ψ5.03	ψ000.00
white lettering MUSTANG'on top 5'butlined running mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL'outlined Back -7'GO BLUE'white & orange Sizes to follow when order is placed Y EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA *BARCELONA SPORTING GOODS 200 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.45 \$1,490.00					EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$8.50	\$850.00
mustang horse toward left arm in middle horse is not solid outline only FOOTBALLL"outlined Back -7'GO BLUE'white Y EA AMERICA TEAM SPORTS 200 \$4.50 \$900.00 EA 'BARCELONA SPORTING GOODS 200 \$6.65 \$1,330.00 EA HEALY AWARDS INC 200 \$6.65 \$1,330.00									
Solution Sizes to follow when order is placed Y		mustang horse toward left arm in middle horse is not solid -							
EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.45 \$1,490.00	155		Y		EA	AMERICA TEAM SPORTS	200	\$4.50	\$900.00
EA HEALY AWARDS INC 200 \$6.65 \$1,330.00 EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.45 \$1,490.00						*PARCELONA CROSTING COORS	200		
EA VARSITY BRANDS HOLDINGS CO INC 200 \$7.45 \$1,490.00					EA	DAKGELONA SPORTING GOODS	200		
					EA	HEALY AWARDS INC	200	\$6.65	\$1,330.00
									\$1,490.00 \$1,940.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
	Russell T-shirts or approved equal #64030 50/50, white with navy lettering MUSTANG'on top 5'butlined running							
	mustang horse toward left arm in middle horse is not solid - outline only FOOTBALLL"-outlined Sizes to follow when							
156	order is placed	Y		EA	HEALY AWARDS INC	100	\$3.65	\$365.00
				EA	AMERICA TEAM SPORTS	100	\$4.50	\$450.00
				EA	*BARCELONA SPORTING GOODS	100	,	,
				EA	VARSITY BRANDS HOLDINGS CO INC	100	\$5.85	\$585.00
				LA	VARSITI BRANDS HOLDINGS CO INC	100	ψ5.05	ψ303.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$7.00	\$700.00
	Russell T-shirts or approved equal #64030 50/50, birch with							
157	Maroon lettering Rowlett'with football Number inside football Football'Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	100	\$4.50	\$450.00
				EA	*BARCELONA SPORTING GOODS	100		
				LA	DARGEESNA GI GRAING GGGBG	100		
				EA	VARSITY BRANDS HOLDINGS CO INC	100	\$6.55	\$655.00
				EA	HEALY AWARDS INC	100	\$8.15	\$815.00
				EA	HEALT AWARDS INC	100	\$0.15	\$613.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$11.25	\$1,125.00
158	Russell Dri-fit Power Long Sleeve Shirts or approved equal #WOB Sizes to follow when order is placed	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	40	\$5.50	\$220.00
				EA	AMERICA TEAM SPORTS	40	\$5.95	\$238.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	40	\$8.50	\$340.00
				EA	*BARCELONA SPORTING GOODS	40		
159	Russell Lineman Gloves or approved equal #RAPH70 Color & sizes to follow when order is placed	Υ		PR	AMERICA TEAM SPORTS	40	\$33.00	\$1,320.00
				PR	*BARCELONA SPORTING GOODS	40		
				PR	*BARCELONA SPORTING GOODS	40		
							***	\$4.700.00
400	Russell Receiver Gloves or approved equal, RARG60 Color			PR	VARSITY BRANDS HOLDINGS CO INC	40	\$44.00	\$1,760.00
160	Russell Receiver Gloves or approved equal, RARG60 Color & size to follow when order is placed	Y					\$44.00	\$1,760.00
160	Russell Receiver Gloves or approved equal, RARG60 Color & size to follow when order is placed	Y		PR	VARSITY BRANDS HOLDINGS CO INC	40	\$44.00 \$30.00	
160	Russell Receiver Gloves or approved equal, RARG60 Color & size to follow when order is placed	Y		PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS	40 10		\$300.00
	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA,			PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	40 10 10	\$30.00	\$300.00
	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA,	Y		PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS	40 10 10	\$30.00	\$300.00
	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA,			PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	40 10 10	\$30.00	\$300.00 \$360.00
	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA,			PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS	40 10 10 10	\$30.00 \$36.00	\$300.00 \$360.00
	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA,			PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS	40 10 10 10	\$30.00 \$36.00	\$300.00 \$360.00 \$2,050.00
	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA,			PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS	40 10 10 10 200 200	\$30.00 \$36.00 \$10.25	\$300.00 \$360.00 \$2,050.00 \$2,790.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number			PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	40 10 10 10 200 200	\$30.00 \$36.00 \$10.25	\$300.00 \$360.00 \$2,050.00 \$2,790.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with			PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	40 10 10 10 200 200	\$30.00 \$36.00 \$10.25	\$300.00 \$360.00 \$2,050.00 \$2,790.00 \$4,990.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number	Y		PR PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS	40 10 10 10 200 200 200 200	\$30.00 \$36.00 \$10.25 \$13.95 \$24.95	\$300.00 \$360.00 \$2,050.00 \$2,790.00 \$4,990.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number	Y		PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC	40 10 10 10 200 200 200	\$30.00 \$36.00 \$10.25 \$13.95 \$24.95	\$300.00 \$360.00 \$2,050.00 \$2,790.00 \$4,990.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number	Y		PR PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS	40 10 10 10 200 200 200 200	\$30.00 \$36.00 \$10.25 \$13.95 \$24.95	\$300.00 \$360.00 \$2,050.00 \$2,790.00 \$4,990.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number	Y		PR PR PR PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS	40 10 10 10 200 200 200 200	\$30.00 \$36.00 \$10.25 \$13.95 \$24.95	\$300.00 \$360.00 \$2,050.00 \$4,990.00 \$1,080.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number	Y		PR PR PR PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC VARSITY BRANDS HOLDINGS CO INC	40 10 10 10 200 200 200 200 180	\$30.00 \$36.00 \$10.25 \$13.95 \$24.95	\$300.00 \$360.00 \$2,050.00 \$2,790.00 \$4,990.00 \$1,080.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number	Y		PR PR PR PR PR PR PR PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC	40 10 10 10 200 200 200 200 180 180	\$30.00 \$36.00 \$10.25 \$13.95 \$24.95 \$6.00	\$300.00 \$360.00 \$2,050.00 \$2,790.00 \$4,990.00 \$1,080.00 \$2,187.00
161	& size to follow when order is placed Russell Practice Pants or approved equal #F14CAMA, white Slotted, sizes to follow when order is placed Russell Shorts or approved equal #15714MK, black with gold 1'lettering on left leg OWL'with a 3'football -number inside FOOTBALL'Sizes to follow when order is placed Russell Shorts or approved equal #65883MK -9'Color &	Y		PR	VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC *BARCELONA SPORTING GOODS AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS *BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC VARSITY BRANDS HOLDINGS CO INC	40 10 10 10 200 200 200 200 180	\$30.00 \$36.00 \$10.25 \$13.95 \$24.95	\$1,760.00 \$300.00 \$360.00 \$2,050.00 \$2,790.00 \$4,990.00 \$1,080.00 \$2,187.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				PR	AMERICA TEAM SPORTS	82	\$4.50	\$369.00
				PR PR	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC	82 82	\$5.75 \$7.80	\$471.50 \$639.60
	Russell Mesh Shorts or approved equal #660MMK Dri-			PR	VARSITY BRANDS HOLDINGS CO INC	82	\$7.90	\$647.80
164	power moisture wicking fabric, side pockets 8'Inseam, color & sizes to follow when order is placed			PR	VARSITY BRANDS HOLDINGS CO INC	40	\$8.50	\$340.00
				PR	KNOCKOUT SPORTSWEAR.COM LLC	40	\$9.40	\$376.00
				PR	*BARCELONA SPORTING GOODS	40		
	Russell Mesh Shorts or approved equal #660MMK Dri-			PR	AMERICA TEAM SPORTS	40	\$19.95	\$798.00
	power moisture wicking fabric, side pockets 8'Inseam, royal with one color SG logo Sizes to follow when order is							
165	placed	Υ		PR PR	VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC	20 20	\$11.25 \$19.20	\$225.00
				FK	RNOCROUT SPORTSWEAR.COM LLC	20	\$19.20	\$384.00
				PR	AMERICA TEAM SPORTS	20	\$20.00	\$400.00
				PR	*BARCELONA SPORTING GOODS	20		
	Russell Mesh Shorts or approved equal #660PMMK Two color State of Texas logo embroidered on left leg Sizes to							
166	follow when order is placed	Υ		PR	VARSITY BRANDS HOLDINGS CO INC	30	\$16.95	\$508.50
				PR PR	AMERICA TEAM SPORTS KNOCKOUT SPORTSWEAR.COM LLC	30 30	\$20.00 \$22.95	\$600.00 \$688.50
	Russell Micromesh 9'Shorts or approved equal, red with			PR	*BARCELONA SPORTING GOODS	30		
167	SOUTH GARLAND'and football one color Sizes to follow when order is placed	Υ		PR	AMERICA TEAM SPORTS	100	\$5.50	\$550.00
				PR	*BARCELONA SPORTING GOODS	100		
				PR	HEALY AWARDS INC	100	\$8.25	\$825.00
				PR PR	VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC	100 100	\$9.90 \$19.20	\$990.00 \$1,920.00
	Russell Shorts or approved equal #569P, 9"- birch with						,	
168	maroon lettering on left leg Rowlett'with a football number	Υ		PR	AMERICA TEAM SPORTS	100	\$5.00	\$500.00
100	MISIAC POOTBALL Sizes to follow when order is placed			T N	AMERICA TEAM OF ONTO	100	\$5.00	φ500.00
				PR	*BARCELONA SPORTING GOODS	100		
				PR	VARSITY BRANDS HOLDINGS CO INC	100	\$8.60	\$860.00
				PR	HEALY AWARDS INC	100	\$12.50	\$1,250.00
	<u>I</u>	l .		1 1.1	INERE! ANARDO INO	100	ψ12.3U	φ1,200.00

Line		Award (Y /	_					Extended
	Item Description Russell Shorts or approved equal #659AFMK -9'Navy with	N)	Reason	UOM	Supplier	Qty	Price	Price
	white lettering arched Solid 3 white football on left leg 2 white number on right leg #1 -200 Sizes to follow when							
169	order is placed	Y		PR	AMERICA TEAM SPORTS	200	\$5.50	\$1,100.00
				PR	*BARCELONA SPORTING GOODS	200		
				PR	VARSITY BRANDS HOLDINGS CO INC	200	\$10.55	\$2,110.00
				PR PR	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC	200 200	\$12.50 \$21.60	\$2,500.00 \$4,320.00
170	Russell Game Pants or approved equal #SO626, black Sizes to follow when order is placed	γ		PR	*BARCELONA SPORTING GOODS	20	Ψ21.00	ψ4,320.00
	Class to long the money and the places							
				PR PR	AMERICA TEAM SPORTS KNOCKOUT SPORTSWEAR.COM LLC	20 20	\$18.00 \$40.00	\$360.00 \$800.00
	Russell Sweats or approved equal -hooded top #695HBMO Pant #696HBMO -black with gold lettering on top & left leg							
	of pant OWL'With football - # inside FOOTBALL'Sizes to follow when order is placed			SET	AMERICA TEAM SPORTS	50	\$29.00	\$1,450.00
				SET	*BARCELONA SPORTING GOODS	50		
				057	VARSITY BRANDS HOLDINGS CO INC		*20.50	\$4.00F.00
				SET	VARSITY BRANDS HOLDINGS CO INC	50	\$32.50	\$1,625.00
				SET	HEALY AWARDS INC	50	\$37.25	\$1,862.50
				SET	KNOCKOUT SPORTSWEAR.COM LLC	50	\$41.00	\$2,050.00
	Russell Sweats -hooded top or approved equal #695HBMO							
172	Pant #696HBMO -gray with royal lettering on top & left leg of pant Sizes to follow when order is placed	Υ		SET	AMERICA TEAM SPORTS	70	\$29.00	\$2,030.00
				SET	*BARCELONA SPORTING GOODS	70		
				JLI	BARGLEONA OF ORTING GOODS	-70		
					WARRIEW REALIZED HER RIVER OF THE		***	40.447.50
				SET	VARSITY BRANDS HOLDINGS CO INC	70	\$30.25	\$2,117.50
				SET	HEALY AWARDS INC	70	\$34.75	\$2,432.50
				eet.	KNOCKOUT SPORTSWEAR.COM LLC	70	\$35.30	\$2,471.00
	Russell Sweats or approved equal -hooded top #695HBMO Pant #696HBMO -maroon with white lettering on top & left			3E1	INNOCROUT SPORTSWEAR.COM LLC	70	\$33.30	\$2,471.00
	leg of pant ROWLETT'with football - # inside Sizes to follow when order is placed	Y		SET	AMERICA TEAM SPORTS	48	\$29.00	\$1,392.00
	mon oraci io piasoa			02.			Ψ20100	ψ1,00 <u>2</u> .00
				SET	*BARCELONA SPORTING GOODS	48		
				SET	VARSITY BRANDS HOLDINGS CO INC	48	\$32.50	\$1,560.00
				SET	HEALY AWARDS INC	48	\$39.00	\$1,872.00
				SET	KNOCKOUT SPORTSWEAR.COM LLC	48	\$44.25	\$2,124.00
	Russell Sweats -hooded top or approved equal #695HBMO Pant #696HBMO -royal with white lettering SOUTH							
	GARLAND'with a football -number inside Same lettering & numbers on left leg Sizes to follow when order is placed	Υ		SET	AMERICA TEAM SPORTS	75	\$29.00	\$2,175.00
		Ī				ĺ		

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				SET	*BARCELONA SPORTING GOODS	75		
				SET	VARSITY BRANDS HOLDINGS CO INC	75	\$32.50	\$2,437.50
				SET	HEALY AWARDS INC	75	\$39.75	\$2,981.25
				SET	KNOCKOUT SPORTSWEAR.COM LLC	75	\$41.00	\$3,075.00
	Russell Sweatpants or approved equal #696HBMO, navy with Two color print with reverse numbers Contact for							
175	sample, sizes to follow when order is placed	Υ		PR PR	AMERICA TEAM SPORTS KNOCKOUT SPORTSWEAR.COM LLC	6	\$14.00 \$19.55	\$84.00 \$117.30
				PR	VARRITY DRANDS HOLDINGS CO INC		¢22.75	\$426 E0
				PK	VARSITY BRANDS HOLDINGS CO INC	6	\$22.75	\$136.50
				PR	*BARCELONA SPORTING GOODS	6		
176	Russell 5 pocket girdle or approved equal #RAGR45, white Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	136	\$12.95	\$1,761.20
				EA	ALERT SERVICES INC	136	\$14.95	\$2,033.20
				EA	VARSITY BRANDS HOLDINGS CO INC	136	\$16.95	\$2,305.20
				EA	*BARCELONA SPORTING GOODS	136		
	Russell Girdle with hip, tail & thigh pads White or approved							
177	equal #RAIGR1 Sizes to follow when order is placed	Y		EA	VARSITY BRANDS HOLDINGS CO INC	90	\$16.95	\$1,525.50
				EA	*BARCELONA SPORTING GOODS	90		
					AMEDICA TEAM COORTS		640.05	64 705 50
170	Russell Padded Girdle or approved equal, white Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	90	\$19.95 \$16.95	\$1,795.50 \$1,695.00
170	Tollow when order is placed				VARSITI BRANDS HOLDINGS CO INC	100	ψ10.33	\$1,033.00
				EA	*BARCELONA SPORTING GOODS	100		
				EA	AMERICA TEAM SPORTS	100	\$19.95	\$1,995.00
	Russell Pant or approved equal #S0262 Color & sizes to							
179	follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	20		
				PR	AMERICA TEAM SPORTS	20	\$18.00	£260.00
100	Russell Pants or approved equal #101CGM1 Color & sizes to follow when order is placed	Υ		PR	*BARCELONA SPORTING GOODS	20	\$10.00	\$360.00
100	to follow when order is placed				BARCEEONA SI ORTING GOODS	20		
				PR	AMERICA TEAM SPORTS	20	\$31.00	\$620.00
181	Russell Game Day Hand Warmer or approved equal #RAHW70, black	Υ		EA	AMERICA TEAM SPORTS	3	\$12.00	\$36.00
							V	,,,,,,,
182	Gilman Hand Shields or approved equal #RUSHER			EA	MARTY GILMAN INC	6	\$122.00	\$732.00
183	Gilman Rover Hand Shield or approved equal #ROV5, 4 lb.			EA	MARTY GILMAN INC	4	\$112.00	\$448.00
184	Gilman Rover Hand Shield or approved equal #ROV4, 4 lb.			EA	MARTY GILMAN INC	4	\$112.00	\$448.00
185	Gilman I"Back Step Over Dummies or approved equal #IBD, red	Υ		EA	MARTY GILMAN INC	6	\$160.00	\$960.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
	Gilman Super Chute or approved equal #SUP1 Gilman Rollback Popup Dummies or approved equal #RB28	Y		EA	MARTY GILMAN INC	2	\$2,200.00	\$4,400.00
187	kea			EA	MARTY GILMAN INC	4	\$660.00	\$2,640.00
188	Gilman Comeback Popup Dummies 65'or approved equal #CB20, red	Υ		EA	MARTY GILMAN INC	4	\$575.00	\$2,300.00
189	Gilman Chargeback 5 man Sled or approved equal #405R Bod Pads			EA	MARTY GILMAN INC	1	\$4,500.00	\$4,500.00
190	Gilman BOD Pad or approved equal	Υ		EA	MARTY GILMAN INC	1	\$310.00	\$310.00
190	Gillian BOD Fau of approved equal			EA	WART I GILWAN INC	'	\$310.00	\$310.00
191	Gilman Long Chute Boards or approved equal #B96			EA	MARTY GILMAN INC	1	\$195.00	\$195.00
	Gilman Defensive Chute or approved equal #DC1 Gilman Ramback Sled with Fit Pads Included or approved			EA	MARTY GILMAN INC	1	\$1,345.00	\$1,345.00
193	equal #RAM5			EA	MARTY GILMAN INC	1	\$5,600.00	\$5,600.00
194	Gilman Fit Pads or approved equal #FIT			EA	MARTY GILMAN INC	5	\$330.00	\$1,650.00
195	Rogers 5 Man MOD Sled or approved equal #411305			EA	MARTY GILMAN INC	1	\$4,750.00	\$4,750.00
				EA	VARSITY BRANDS HOLDINGS CO INC	1	\$4,999.98	\$4,999.98
196	Rogers Mobility Chute or approved equal #410537 10'x 20'	Υ		EA	MARTY GILMAN INC	1	\$1,345.00	\$1,345.00
				EA	VARSITY BRANDS HOLDINGS CO INC	1	\$2,361.98	\$2,361.98
				LA	VARSITI BRANDS HOLDINGS CO INC	ı	\$2,301.30	\$2,301.90
197	Rogers Agile 1 or approved equal #410103, red	Υ		SET	VARSITY BRANDS HOLDINGS CO INC	1	\$147.48	\$147.48
	Down Helmet cart or approved equal #1149449 Holds 60			SET	MARTY GILMAN INC	1	\$960.00	\$960.00
198	helmets	Y		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$204.98	\$204.98
				EA	AMERICA TEAM SPORTS	1	\$240.00	\$240.00
199	Pro Down Pylons, orange Weighted Anchorless or approved equal #BA4-MSWPYLON	Υ		SET	SCHOOL SPECIALTY INC	2	\$16.28	\$32.56
				SET	VARSITY BRANDS HOLDINGS CO INC	2	\$26.98	\$53.96
				SET	AMERICA TEAM SPORTS	2	\$30.00	\$60.00
							,,,,,,,	÷
<u> </u>				SET	MARTY GILMAN INC	2	\$144.00	\$288.00
200	Down Indicator & Chains or approved equal #B54-1376988	Y		SET	AMERICA TEAM SPORTS	1	\$207.00	\$207.00
				SET	VARSITY BRANDS HOLDINGS CO INC	1	\$209.98	\$209.98
	Pro Down Helmet Rack with 6'Wheels or approved equal			SET	MARTY GILMAN INC	1	\$650.00	\$650.00
201	#B54-1257731			EA	VARSITY BRANDS HOLDINGS CO INC	1	\$204.98	\$204.98
				EA	AMERICA TEAM SPORTS	1	\$240.00	\$240.00
200	Dick Copes or approved and WEEA 4055705	v		DZN	VADSITY DDANIDS HOLDINGS GOLING	-	60.00	644.00
202	Disk Cones or approved equal #B54-1255706, orange	Y		DZN	VARSITY BRANDS HOLDINGS CO INC	5	\$2.98	\$14.90
				DZN	PYRAMID SCHOOL PRODUCTS	5	\$4.68	\$23.40
				DZN	*BARCELONA SPORTING GOODS	5		

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
203	Fox 40 Whistles, no subs	Υ		DZN EA	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO INC	5 235	\$7.50 \$3.16	\$37.50 \$742.60
				EA	AMERICA TEAM SPORTS	235	\$3.20	\$752.00
				EA	ALERT SERVICES INC	235	\$3.55	\$834.25
					ALERI GERVIOLO INO	200	\$5.55	ψου4.20
				EA	*BARCELONA SPORTING GOODS	235		
				EA	SCHOOL SPECIALTY INC	235	\$4.34	\$1,019.90
204	Lanyards Color to follow when order is placed	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	200	\$0.17	\$34.00
				EA	PYRAMID SCHOOL PRODUCTS	200	\$0.29	\$58.00
				EA EA	SCHOOL SPECIALTY INC ALERT SERVICES INC	200	\$0.5355 \$0.68	\$107.10 \$136.00
				EA	*BARCELONA SPORTING GOODS	200		
	Athletic Specialties PT1 1'Extra Point Tees or approved			EA	AMERICA TEAM SPORTS	200	\$1.00	\$200.00
205	equal			EA	VARSITY BRANDS HOLDINGS CO INC	22	\$1.07	\$23.54
				EA	ALERT SERVICES INC	22	\$3.15	\$69.30
				EA	AMERICA TEAM SPORTS	22	\$4.00	\$88.00
				EA	*BARCELONA SPORTING GOODS	22		
	Athletic Specialties Webb Belts or approved equal #PWB							
206	Color to follow when order is placed	Υ		EA	ALERT SERVICES INC	500	\$0.65	\$325.00
				EA	*BARCELONA SPORTING GOODS	500		
				EA	AMERICA TEAM SPORTS	500	\$1.00	\$500.00
					AMERICA TEAM OF ONTO	300	\$1.00	Ψ500.00
007				EA	VARSITY BRANDS HOLDINGS CO INC	500	\$1.19	\$595.00
207	Black Shoe Laces	Υ		GRO	ALERT SERVICES INC	6	\$19.48	\$116.88
				GRO	AMERICA TEAM SPORTS	6	\$28.00	\$168.00
				GRO	AWERICA TEAW SFORTS		\$28.00	\$100.00
				GRO	*BARCELONA SPORTING GOODS	6		
208	Pull Over Scrimmage Vests Color to follow when order is placed	Υ		DZN	VARSITY BRANDS HOLDINGS CO INC	6	\$23.76	\$142.56
				DZN	AMERICA TEAM SPORTS	6	\$35.00	\$210.00
				DZN	*BARCELONA SPORTING GOODS	6		
209	Neumann QB Flip Open Wrist Bands or approved equal #191 Black	Υ		EA	ALERT SERVICES INC	34	\$4.80	\$163.20
200	#101 Didok				ALERI GERVIGES INS	0 -7	\$4.00	ψ100.20
				EA	VARSITY BRANDS HOLDINGS CO INC	34	\$4.92	\$167.28
				EA	AMERICA TEAM SPORTS	34	\$6.00	\$204.00
	AL			EA	*BARCELONA SPORTING GOODS	34		
	Champro Practice Jersey or approved equal #FJN with Numbers, color, numbers & sizes to follow when order is							
210	placed	Υ		EA	*BARCELONA SPORTING GOODS	530		
				EA	AMERICA TEAM SPORTS	530	\$13.00	\$6,890.00
				EA	VARSITY BRANDS HOLDINGS CO INC	530	\$13.69	\$7,255.70
				EA	KNOCKOUT SPORTSWEAR.COM LLC	530	\$13.75	\$7,287.50
	Champro Practice Jersey or approved equal #FJ19 Two color team name & numbers Colors & sizes to follow when							
211	order is placed	Υ		EA	KNOCKOUT SPORTSWEAR.COM LLC	72	\$15.25	\$1,098.00
				EA	AMERICA TEAM SPORTS	72	\$27.00	\$1,944.00
						<u> </u>	\$27.00	¥.,044.00
		<u> </u>		EA	*BARCELONA SPORTING GOODS	72	l l	

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	VARSITY BRANDS HOLDINGS CO INC	72	\$39.90	\$2,872.80
	Alleson Mesh 9'Shorts or approved equal #569P Black with gold lettering on left leg Sizes & numbers to follow when							
212	order is placed	Y		PR	AMERICA TEAM SPORTS	200	\$5.00	\$1,000.00
				PR	*BARCELONA SPORTING GOODS	200		
				PR	VARSITY BRANDS HOLDINGS CO INC	200	\$8.95	\$1,790.00
				PR PR	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC	200 200	\$10.00 \$10.60	\$2,000.00 \$2,120.00
	Alleson Mesh 9'Shorts or approved equal #569P Royal blue with interlocking LC'on left leg Sizes & numbers to follow							
213	when order is placed	Υ		PR	AMERICA TEAM SPORTS	70	\$6.00	\$420.00
				PR	*BARCELONA SPORTING GOODS	70		
	1			PR	VARSITY BRANDS HOLDINGS CO INC	70	\$9.50	\$665.00
				PR	HEALY AWARDS INC	70	\$10.25	\$717.50
	Alleson Mesh 9'Shorts or approved equal #569P Dark			PR	KNOCKOUT SPORTSWEAR.COM LLC	70	\$10.95	\$766.50
214	Green with one color Naaman logo Sizes & numbers to follow when order is placed	Υ		PR	AMERICA TEAM SPORTS	100	\$6.50	\$650.00
	·							•
				PR	*BARCELONA SPORTING GOODS	100		
				PR	VARSITY BRANDS HOLDINGS CO INC	100	\$9.40	\$940.00
				PR	HEALY AWARDS INC	100	\$10.00	\$1,000.00
	Alleson Mesh 9'Shorts or approved equal #569P Red with			PR	KNOCKOUT SPORTSWEAR.COM LLC	100	\$10.95	\$1,095.00
215	one color SG logo on left leg Sizes to follow when order is placed	Υ		PR	AMERICA TEAM SPORTS	100	\$5.00	\$500.00
				PR	*BARCELONA SPORTING GOODS	100		
				FK	BARCELONA SPORTING GOODS	100		
				PR	VARSITY BRANDS HOLDINGS CO INC	100	\$8.30	\$830.00
				PR	HEALY AWARDS INC	100	\$10.00	\$1,000.00
040	Alleson Slotted Practice Pants, white or approved equal			PR	KNOCKOUT SPORTSWEAR.COM LLC	100	\$10.95	\$1,095.00
216	#610SL - Sizes to follow when order is placed	Y		PR	*BARCELONA SPORTING GOODS	150		
				PR	AMERICA TEAM SPORTS	150	\$10.50	\$1,575.00
	Allacen Province Javanya as annound annual IIF IN -it-			PR	VARSITY BRANDS HOLDINGS CO INC	150	\$10.50	\$1,575.00
	Alleson Practice Jerseys or approved equal #FJN with numbers Color, color of numbers & sizes to follow when order is placed	Y		EA	*BARCELONA SPORTING GOODS	194		
41/	order is praced			EA	DANGELONA SPORTING GOODS	194		
				EA EA	AMERICA TEAM SPORTS KNOCKOUT SPORTSWEAR.COM LLC	194 194	\$13.00 \$13.75	\$2,522.00 \$2,667.50
				EA	VARSITY BRANDS HOLDINGS CO INC	194	\$14.40	\$2,793.60
218	Rawlings Football Practice Pants, white or approved equal #F45014	Υ		PR	*BARCELONA SPORTING GOODS	500		
				PR	AMERICA TEAM SPORTS	500	\$10.25	\$5,125.00
				PR	PYRAMID SCHOOL PRODUCTS	500	\$22.00	\$11,000.00
219	Rawlings ST-5CY Football ball or approved equal	Υ		EA	PYRAMID SCHOOL PRODUCTS	60	\$13.00	\$780.00
		ĺ		EA	*BARCELONA SPORTING GOODS	60		

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	AMERICA TEAM SPORTS	60	\$25.00	\$1,500.00
				EA	VARSITY BRANDS HOLDINGS CO INC	60	\$26.49	\$1,589.40
220	Rawlings Official Size Leather Middle School Football or approved equal			EA	*BARCELONA SPORTING GOODS	60		
				EA	PYRAMID SCHOOL PRODUCTS	60	\$56.50	\$3,390.00
	Master Lock with key & combination Black or approved			EA	AMERICA TEAM SPORTS	60	\$58.00	\$3,480.00
221	equal #V-69 #228-278	Υ		EA	PYRAMID SCHOOL PRODUCTS	50	\$5.20	\$260.00
				EA	AMERICA TEAM SPORTS	50	\$6.49	\$324.50
					AMERICA TEAM OF ORTO	30	ψ0.43	\$324.30
				EA	*BARCELONA SPORTING GOODS	50		
				EA	VARSITY BRANDS HOLDINGS CO INC	50	\$10.98	\$549.00
222	Master Lock with key & combination Royal or approved equal #V659	Υ		EA	PYRAMID SCHOOL PRODUCTS	50	\$5.25	\$262.50
				EA	AMEDICA TEAM SPORTS	50	¢e 40	\$224.50
				EA	AMERICA TEAM SPORTS	50	\$6.49	\$324.50
				EA	*BARCELONA SPORTING GOODS	50		
000	Master Lock with key & combination or approved equal #50			EA	VARSITY BRANDS HOLDINGS CO INC	50	\$10.98	\$549.00
223	Black	Υ		EA	PYRAMID SCHOOL PRODUCTS	98	\$5.20	\$509.60
				EA	AMERICA TEAM SPORTS	98	\$6.29	\$616.42
				EA	*BARCELONA SPORTING GOODS	98		
224	Scrimmage Helmet Cover, orange	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	24	\$1.79	\$42.96
				EA	PYRAMID SCHOOL PRODUCTS	24	\$2.20	\$52.80
				EA	AMERICA TEAM SPORTS	24	\$2.75	\$66.00
				EA	MARTY GILMAN INC	24	\$8.00	\$192.00
				EA	*BARCELONA SPORTING GOODS	24		
				LA	DARGEEONA OF ORTING GOODS	2.4		
225	Unequal Gyro Helmet Inserts			EA	AMERICA TEAM SPORTS	20	\$39.00	\$780.00
226	Orange Cones (10 pkg.) or approved equal #A134	Y		PK	VARSITY BRANDS HOLDINGS CO INC	15	\$2.98	\$44.70
				PK	PYRAMID SCHOOL PRODUCTS	15	\$3.90	\$58.50
				PK	AMERICA TEAM SPORTS	15	\$7.50	\$112.50
227	Agility Dots 9'Diameter	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	30	\$1.08	\$32.40
				EA	AMERICA TEAM SPORTS	30	\$2.40	\$72.00
				EA	ALERT SERVICES INC	30	\$25.86	\$775.80
228	Guardian Protective Helmet Covers	Y		EA	AMERICA TEAM SPORTS	100	\$2.75	\$275.00
	Gildan Polo or approved equal #3800, black with			EA	VARSITY BRANDS HOLDINGS CO INC	100	\$42.91	\$4,291.00
229	embroidery Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	10	\$17.00	\$170.00
				EA	VARSITY BRANDS HOLDINGS CO INC	10	\$17.80	\$178.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	10	\$20.15	\$201.50
	A4 Dri-fit Shirts or approved equal #BB29A41, charcoal 2" interlocking LC'Vegas Gold on left chest Sizes to follow							
230	when order is placed	Υ		EA	PYRAMID SCHOOL PRODUCTS	70	\$6.40	\$448.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
					*PARCELONA CROPTING COORS	70		
				EA	*BARCELONA SPORTING GOODS	70		
				EA	AMERICA TEAM SPORTS	70	\$6.49	\$454.30
				EA EA	VARSITY BRANDS HOLDINGS CO INC KNOCKOUT SPORTSWEAR.COM LLC	70 70	\$8.20 \$10.00	\$574.00 \$700.00
				EA	HEALY AWARDS INC	70	\$10.25	\$717.50
	A4 Dri-fit Shirts or approved equal #BB29A41, dark green One color Naaman Logo Sizes to follow when order is							
231	placed	Y		EA	AMERICA TEAM SPORTS	100	\$5.95	\$595.00
				EA	*BARCELONA SPORTING GOODS	100		
				EA	PYRAMID SCHOOL PRODUCTS	100	\$6.40	\$640.00
				EA	VARSITY BRANDS HOLDINGS CO INC	100	\$8.20	\$820.00
				EA	HEALY AWARDS INC	100	\$9.25	\$925.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$9.80	\$980.00
232	A4 Dri-fit Shirts or approved equal #BB29A41, with One color lettering Sizes to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	320	\$5.00	\$1,600.00
				EA	*BARCELONA SPORTING GOODS	320		
				EA	PYRAMID SCHOOL PRODUCTS	320	\$6.40	\$2,048.00
				EA	HEALY AWARDS INC	320	\$7.00	\$2,240.00
				EA	VARSITY BRANDS HOLDINGS CO INC	320	\$7.35	\$2,352.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	320	\$8.60	\$2,752.00
233	A4 Dri-fit Shirts or approved equal #BB29A41, grey with One color lettering Sizes to follow when order is placed	Υ		EA	*BARCELONA SPORTING GOODS	100		
				EA	AMERICA TEAM SPORTS	100	\$6.00	\$600.00
				EA	PYRAMID SCHOOL PRODUCTS	100	\$6.40	\$640.00
				EA	VARSITY BRANDS HOLDINGS CO INC	100	\$8.20	\$820.00
				EA	HEALY AWARDS INC	100	\$9.25	\$925.00
				EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$9.80	\$980.00
	A4 Shirts or approved equal #N3142, navy with two color lettering on front & back, 2'humber on sleeve Sizes to							,,,,,,,,,
234	follow when order is placed	Y		EA	AMERICA TEAM SPORTS	160	\$5.50	\$880.00
					VARCITY PRANCE HOLDINGS OF INC	400	#0.00	\$4 000 00
				EA	VARSITY BRANDS HOLDINGS CO INC	160	\$8.30	\$1,328.00
				EA	*BARCELONA SPORTING GOODS	160		
1					1		1	
				E^	DVPAMID SCHOOL PRODUCTS	160	¢44 no	\$1.760.00
				EA EA	PYRAMID SCHOOL PRODUCTS HEALY AWARDS INC	160 160	\$11.00 \$12.75	\$1,760.00 \$2,040.00
				EA	HEALY AWARDS INC	160	\$12.75	\$2,040.00
205	A4 Tricot Short or approved equal, with one color logo			EA EA	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC	160	\$12.75 \$13.25	\$2,040.00 \$2,120.00
235	A4 Tricot Short or approved equal, with one color logo Sizes to follow when order is placed	Y		EA	HEALY AWARDS INC	160	\$12.75	\$2,040.00 \$2,120.00
235		Y		EA EA PR	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS	160	\$12.75 \$13.25 \$5.50	\$2,040.00 \$2,120.00 \$1,650.00
235		Y		EA EA	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC	160	\$12.75 \$13.25	\$2,040.00 \$2,120.00
235		Y		EA EA PR PR	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC AMERICA TEAM SPORTS	160	\$12.75 \$13.25 \$5.50	\$2,040.00 \$2,120.00 \$1,650.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
				PR	VARSITY BRANDS HOLDINGS CO INC	300	\$8.50	\$2,550.00
				PR	KNOCKOUT SPORTSWEAR.COM LLC	300	\$10.20	\$3,060.00
236	A4 Shorts or approved equal #N5296 - #076761 cut Oxford, sizes to follow when order is placed	٧		PR	AMERICA TEAM SPORTS	125	\$4.25	\$531.25
				PR	PYRAMID SCHOOL PRODUCTS	125	\$4.25	\$531.25
				PR	*BARCELONA SPORTING GOODS	125		
				PR	HEALY AWARDS INC	125	\$5.75	\$718.75
							¥5m ¢	***************************************
				PR	VARSITY BRANDS HOLDINGS CO INC	125	\$7.10	\$887.50
				PR	KNOCKOUT SPORTSWEAR.COM LLC	125	\$9.15	\$1,143.75
	Jerzee T-shirt or approved equal #29M, birch with maroon ROWLETT with a football -number inside FOOTBALL'#1-40							
237	small #41-85 medium #86-105 large #106-115 x-large #116- 120 xx-large #121-125 xxx-large	Υ		EA	AMERICA TEAM SPORTS	125	\$5.00	\$625.00
				EA	*BARCELONA SPORTING GOODS	125		
				EA	VARSITY BRANDS HOLDINGS CO INC	125	\$6.58	\$822.50
				EA EA	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC	125 125	\$8.15 \$10.50	\$1,018.75 \$1,312.50
	Jerzee T-shirt or approved equal #29M, birch with maroon							
238	EAGLE'FOOTBALL"	Y		EA	AMERICA TEAM SPORTS	48	\$5.00	\$240.00
					VARRITY PRANCE HOLDINGS OF INC	40	65.00	£0.40.00
				EA EA	VARSITY BRANDS HOLDINGS CO INC	48	\$5.20	\$249.60
					*BARCELONA SPORTING GOODS			
				EA EA	HEALY AWARDS INC KNOCKOUT SPORTSWEAR.COM LLC	48 48	\$7.85 \$7.90	\$376.80 \$379.20
	Jerzee T-shirt or approved equal #29M, gray with dark green Jerzee T-shirt #29M, gray with dark green Jerzee T-							
239	shirt #29M, gray with dark green letterin	Y		EA	HEALY AWARDS INC	100	\$4.65	\$465.00
				EA	AMERICA TEAM SPORTS	100	\$5.00	\$500.00
				LA	AWERICA TEAW SPORTS	100	\$5.00	\$500.00
				EA	VARSITY BRANDS HOLDINGS CO INC	100	\$5.15	\$515.00
				EA	*BARCELONA SPORTING GOODS	100		
				EA	KNOCKOUT SPORTSWEAR.COM LLC	100	\$7.70	\$770.00
	Rawlings Practice Pants or approved equal #F45014 White,							
240	sizes to follow when order is placed	Y		PR	*BARCELONA SPORTING GOODS	140		
				_				
				PR	AMERICA TEAM SPORTS	140	\$10.50	\$1,470.00
				PR	PYRAMID SCHOOL PRODUCTS	140	\$22.00	\$3,080.00
				1.17	I TANIBU GOTIOGET RODUCTO	140	φ22.00	φυ,υου.υυ
241	Wizard 1'Kick-off Tee #GT1 or approved equal	v		EA	ALERT SERVICES INC	1	\$3.15	\$3.15
441	The world of approved equal			-A	ALEKT SERVICES INC		\$3.13	\$3.13
				EA	AMERICA TEAM SPORTS	1	\$15.00	\$15.00
				EA	*BARCELONA SPORTING GOODS	1		
242	2 color custom decal -Green Bay G Gold outlined white on oval -clear background Contact for sample	Υ		PR	NEFF MOTIVATION INC	200	\$2.14	\$428.00
_72	- Managround Somact for Sumple				HEALY AWARDS INC	200	\$2.85	\$570.00

Line		Award (Y /						Extended
#	Item Description	N)	Reason	UOM	Supplier	Qty	Price	Price
	·							
243	Custom Royal LC Logo Contact for Sample	Υ		PR	NEFF MOTIVATION INC	50	\$2.69	\$134.50
				PR	HEALY AWARDS INC	50	\$3.31	\$165.50

244	Custom North Garland Decal	Υ		PR PR	NEFF MOTIVATION INC	160 160	\$2.35 \$2.85	\$376.00 \$456.00
							V 2.00	Ų 100100
245	Custom Sachse Decal, two color Contact for sample			PR	NEFF MOTIVATION INC	100	\$2.37	\$237.00
				PR	LIEAL V AWARDO INO	100	\$3.11	* 244.00
-	Custom Interlocking SG'with Cross Swords -chrome red			PK	HEALY AWARDS INC	100	\$3.11	\$311.00
246	and silver trim	Υ		PR	NEFF MOTIVATION INC	70	\$5.75	\$402.50
				PR	HEALY AWARDS INC	70	\$6.44	\$450.80
247	Tapered Stripes -red & chrome silver	Υ		EA	HEALY AWARDS INC	70	\$5.43	\$380.10
				EA	NEFF MOTIVATION INC	70	\$5.55	\$388.50
0.40	Halmat Strings Calanta fallows the manda is alread				HEALY AWARDS INC	00	60.50	\$200.00
∠48	Helmet Stripes Color to follow when order is placed	Υ		EA	HEALY AWARDS INC	80	\$2.50	\$200.00
				EA	NEFF MOTIVATION INC	80	\$2.76	\$220.80
	Helmet numbers, 1'circle Color to follow when order is							
249	placed	Υ		SET	NEFF MOTIVATION INC	2	\$17.25	\$34.50
				SET	HEALY AWARDS INC	2	\$18.60	\$37.20